
MATE 3032assignment9: sections11.3,11.4

73. Usea testto determinewhethertheseriesis convergent:

(a)
∞
∑

n= 1

−3n

(b)
∞
∑
k= 1

1
2k + 3

.

74. Exercise1p.725.

75. Exercises11–14p.726.

76. Cantheintegraltestbeusedto determineconvergenceof theseries
∞
∑
n= 1

cos(πn)

√n
?

77. Find thevaluesof p for which theseries
∞
∑

n= 1
2n(1 + n p) is convergent.

78. Exercises1,2p.731.

79. Determinewhethertheseriesconvergesor diverges:

(a)
∞
∑
k= 1

k − 1
k√k

(b)
∞
∑
k= 1

1
4√1 + 3k

(c)
∞
∑
n= 1

2n + n + 1
4n + 2n

(d)
∞
∑

n= 1
sin(1/n)

(e)
∞
∑
n= 1

n sinn
1 + 3n

.

80. Exercise37p.731.Usecomparison.

81. Showthatif an > 0 andnan hasanonzerolimit asn → ∞, then∑an is divergent.Hint:

nan =
an

1/n
.

Usethecomparisontest.
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